Problema Método

39( I)mz ; f(x,y)  Limites direccionales
X,y )—(a,
(a, b) #(0,0) (Rectas y — b = m(x — a))
Ejemplo 1 Ejemplo 2 (1/3)
im 3X(X_25) m xy—x—y+1
(xy)=(6.-2) ¥+ (oy)—(11) X2 4+ y2 — 2x — 2y + 2

Limite por y +2 = m(x — 5) Recta y =1+ m(x — 1)



Suficiente estudiar en el origen Ejemplo 2 (2/3)

Si(a,b) #(0,0) ¢ lim f(x,y)?

(x.y)=(a.b) m xy—x—y+1 x=u+1
- : xX=u+a ()1 x2+y2 —2x =2y +2 |y=v+1
Cambio variable
y=v+b
. y g(u,v) =
Considerar funcién g(u,v) = f(u+ a, v + b)
Entonces
uv
|/ f = / = |/ = / ||'m _—
(X7Y)ma»b) (X,Y) (u7v)lﬁm(0,0)g(u’ V) (u,v)—(0,0) u? + v2

Ejemplo 2 (3/3)

lim Xy —x—y+1
(xy)—=(1,1) X2 4 y2 — 2x — 2y + 2

Operamos

o (x- 1)y - 1)
(,y)—=(1,1) (x =12+ (y — 1)




